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UNITE 4
Traditional versus CVP Income Stafement

Operating Leverage

SALES MIX

After studying this unite, you should be able to :
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1- Compute the degree of operating leverage at a particular level of sales.
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2-explain how of operating leverage can be used to predict changes in
net operating income.
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3- Compute the (BEP) for a multiproduct company and explain the shifts
in the sales mix on (CM)\and the (BEP).
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-The CVP income statement classifies costs and expenses as variable or
fixed and specifically reports contribution margin in the body of the
statement.
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-The CVP income statement format is sometimes called the contribution
margin format.
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This format is for internal management use only
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-For purposes of illustrating the CVP income statement, assume that
Vargo Video Company reaches its target net income of $120,000 From an
analysis of the transactions, the following information is obtained on the
$680,000 of costs that were incurred in June:
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Variable Fixed Total

Cost of goods sold 400,000 120,000 |520,000
Selling expenses 60,000 40,000 100,000
Administrative expenses 20,000 40,000 60,000

480,000 200,000 | 680,000
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Traditional versus CVP Income Statement
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-The CVP income statement and the traditional income statement based
data .

A gl e Al dadal) bl s CVP daall gl ga e o
-Note that net income is the same ($120,000) in both of the statements.
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-The major difference is the format for the expenses.
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-Also, the traditional statement shows gross profit, whereas the CVP
statement shows contribution margin.
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Traditional Format Contribution Format
Sales .. $12,000 Sales .................... $12,000
Costofgoodssold”.............. 6,000 Variable expenses:
Grossmargin . ..........c.0uenn.n 6,000 Costofgoodssold ....... $6,000
Selling and administrative expenses: Variable selling . .......... 600
Seling .......... ... $3,100 Variable administrative . . ... 400 7,000
Administrative ................ 1,900 5,000 Contribution margin......... 5,000
Met operating income ............ $ 1,000 Fixed expenses:
Fixedselling . ............ 2,500
Fixed administrative .. .. ... 1,500 4,000
MNet operating income ....... $ 1,000
Exhibit 1

-can be computed directly by multiplying the number of units sold by
their unit cost or indirectly using the equation below:
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Cost of Beginning Ending
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o - = merchandise + Purchases — merchandise
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For example, let’s assume that the company depicted in Exhibit 1
purchased $3,000 of merchandise inventory during the period and had
beginning and ending merchandise inventory balances of $7,000 and
$4,000, respectively. The equation above could be used

to compute the cost of goods sold as follows

Cost of soods ~ Beginning Ending
*;Dldc = merchandise + Purchases — merchandise
] inventory inventory
= S§$7.000 + $3.000 — S$4.000
= $6,000

Although the traditional income statement is useful for external
reporting purposes,it has serious limitations when used for internal
purposes. It does not distinguish between fixed and variable costs.
For example, under the heading “Selling and administrative

expenses,” both variable administrative costs ($400) and fixed
administrative costs ($1,500) are lumped together ($1,900).
Internally, managers need cost data organized by cost behavior to aid
in planning, controlling, and decision making. The contribution
format

income statement has been developed in response to these needs.
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Is a measure of how sensitive net operating income is to a given
percentage change in sales. Operating leverage acts as a multiplier:

If Operating leverage is high, a small percentage increase in sales can
produce a much larger percentage increase in net operating income
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DEGREE OF OPERATING LEVERAGE =

(el Jaall ils NET OPERATING INCOME
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- This term refers to the relative proportions in which a company's
products are sold.

Al cilatie g L e ) Al) ol Y ellaad) 13

-The idea is to achieve the combination, or mix, that will yield the
greatest amount of profits
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Different products will have different selling prices, different costs, and
different contribution margins,
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If a company sells more than one product ,break-even point will depend
on the mix in which the various products are sold.
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446 al\lSs Fixed expenses

B.E.P for mix products (in unit) =

Overall CM
S daaliall il 5l iala
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430 CallSs Fixed expenses

B.E.P for mix products ( in dollars ) = :
Overall CM ratio
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